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scanf("%d", &datali]);
scanf("%s", garbage);

6 firstitem\n
7 second item\n scanf("%*[M\n]");
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int i, ndata, data[100];

scanf X%iﬂjgﬁ o o o scanf("%d", &ndata);
scanf("%3*s");
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* scanf {EE(T %s @S, /2 A g5
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DL num2 F1 str #2AREEER, FlanE A 123 a hello
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error C4996: 'scanf': This function or variable may be
unsafe. Consider using scanf_s instead. To disable
deprecation, use _CRT_SECURE_NO_WARNINGS

E'#pragma warning(disable:4996) ﬁ;ﬁﬁ—@l[ﬁlﬁﬂ’g@%
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#define CRT_SECURE_NO_WARNINGS HEH T
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#define _CRT_SECURE_NO_DEPRECATE
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#include <stdio.h> EEBERT
int main() { 1234
char str[5]; count=1 str=[1234]

int count = scanf("%s", str);
printf("count=%d str=[%s]\n", count, str);

return O; BLIE RS R
} E: testScanfOverflow.exe |
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123 abc
* #include <stdio.h> pos1=4 pos2=10
int main() { 123 abc
int num, pos1, pos2; pos1=8 pos2=11

S flhnhstn, gnum gpost puf &posg
JUAH( I@Paﬁﬁ/ﬁ/ﬁ%e%ﬁ‘%ﬂ\ﬂ RES4sROBRK &pos2

scanf("%d0%n%s%n", &num, &pos1, buf, &pos2);
printf("pos1=%d pos2=%d\n", pos1, pos2);

return O;
} 0 1 2 3 4 5 6 7 8 9 1
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pos1 8 1 2 3 4 5 6 7 8 9 10 11
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%on B AR EE?

%n HI1E sscanf ] LR TG S S5 G248 s A FE 1

(Bt A — 1 ehE%1 char buf[] = "abc 123"

char str[10];

sscanf(buf, "%s", str); // g1 buf H1:& abc FI] str

PERARE F?ﬁﬁ sscanf SR iy 123 g?
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int pos, X;

sscanf(buf, "%s%n", &str, &pos);

sscanf(&buf[pos], "%d", &x); // x Fi&E 123 T

A A, 1R LLA sscanf HUf, strtok s 3 755
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\ q:\>testScanfGets
123 586

- l: J countz1 buf:[123 56

1 len=& pes=T7
» char buf[10];

q:\>testScanfGets

fgets(buf,10,stream); 01234 6789012
count=1 buf=[01234 678] len=9 pos=-1

int count, len, pos=-1;
count=fscanf(stream,"%9["\n]%n%*1[\n]%n",buf,&len,&pos);
if (pos>=0) bufflen] = "\n', buf[llen+1] = "\0";

> if (getchar()=="\n")  fiEam L0 {er#0 AR EE H—{E T
if (1 =scanf("%*1[\n]")) EHYIFIoA BE & AL F o

> Dg&% int a, b; char c;
scanf("%d%d%c", &a, &b, &c); FI
scanf("%d", &a); scanf("%d", &b); scanf("%c", &c);
o 1EE A SR ERHERMERS (F141 1 2 a) 2—Fi
 fEEE AR E R IERER: (G140 1 a 2) FRIFZA —HHY

14




